ZORK GENETICS

BACKGROUND: 4 long ime apo_ m a galaxy far, Bar away, a greal race of beings lved on a
planel caled Z0RK. The inhabitasts were knoen &5 Zofkoreans. They are made up of 10 basic
genes (uni) thad code for their appearance Each one of these genes i made up 2 alleles {Irads)
With thes in mind, there are | 024 ditferent possibile combinations for ther apgearance! Ths s
called their pheamotype or ther physacal appesrance. B we look al Bser genes, Bhene are 59 049
different combinations of the alleles” Thes = called the gemolyps or genetic makeup. Rememiser
thal we use kefiers foe the aleles that conirol the gerses and one lemer or alsle = mhenled om
each parenl. ¥ou will be wsing Zorks, who use the same genetic prnciples 25 2 pea plant, bo see
hira @ENES ahe passed on and nbeied. ¥ ou wall Be wing Punnelt Sguates b S this

Here are scme things 1o help youw. You messt understand these concepts and ferrrs! | will use
traits inom the tadle on the resd page as examples

Phamatyipe: The physical sgpearance or whal the gene makes an onganam ek e Examples
winuld be fwo eyes. yeliew hair, and green ips from s 2ok
1. Dwoerenant The trai thal 5 shown the mosi. Example: Green hair = domenant oaer yellow hair

2 Recesswve The bai that s hidden In ths example: yeliow hair

Benetype: The genchc makeup of an organsm. We use |letlérs for the genotype. Remember
that you nesed 1o look at the genobype to see what the phenotype will be

Example: Thene = a Gene or und for hair color ima ook The alleles oo trais (mdyidual genes)
for har okt woukd be yelow and green Thede are 2 allekss bor esCh gene amd we use letters
for each aliele. The capilal leflers are the dominant alleles and the lower case lefters are the
fecessae alleles

Fene Allebe
Hair color 1 reen color = G
2 Yebow colge = g

1. Heterszygeus: The term used for diferend alieles. There &5 alweys ome dominant and one
recesswe allele Example: 55 There = only one possibilty 1or this!

2 Homarygows: The besm used for Bing e same allekes. This will be edier 2 domenant
alieles or 2 recessive alleles. Example GG oorgg  There are 2 possibilities for this!

Pleas e refer back 1o this fo help you a5 you work through ths assepnment.  Yiou will u=e e lable
on the rexd page to complede the problers that foliow. Everything yow reed is in the fable! The
fnlowig ane Bhe irais of & Zock, which we will use 10 shudy geneties. ¥ o will be shadying one
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